# ON GENERALIZED WRIGHT'S HYPERGEOMETRIC FUNCTIONS AND FRACTIONAL CALCULUS OPERATORS 

R. K. RAINA


#### Abstract

In the present paper we first establish some basic results for a substantially more general class of functions defined below. The results include simple differentiation and fractional calculus operators (integration and differentiation of arbitrary orders) for this class of functions. These results are then invoked in determining similar properties for the generalized Wright's hypergeometric functions. Further, norm estimate of a certain class of integral operators whose kernel involves the generalized Wright's hypergeometric function, and its composition (and other related properties) with the fractional calculus operators are also investigated.


## 1. Introduction and preliminaries

The generalized hypergeometric function ${ }_{p} \psi_{q}[x]$ which was introduced by Wright [6] (see also [3, Section 4]) is the extended form of the more familiar generalized hypergeometric function ${ }_{p} F_{q}[x]$, and is defined by

[^0]\[

$$
\begin{align*}
{ }_{p} \psi_{q}[x] & ={ }_{p} \psi_{q} \psi_{q}\left[\left.\begin{array}{c}
\left(a_{1}, \alpha_{1}\right), \ldots,\left(a_{p}, \alpha_{p}\right) \\
\left(b_{1}, \beta_{1}\right), \ldots,\left(b_{q}, \beta_{q}\right)
\end{array} \right\rvert\,\right. \\
& \left.={ }_{p} \psi_{q}\left[\begin{array}{l}
\left(a_{i}, \alpha_{i}\right)_{1, p} \\
\left(b_{j, \beta}, \beta_{j}\right)_{1, q}
\end{array}\right) x\right] \\
& =\sum_{k=0}^{\infty} \frac{\prod_{i=1}^{p} \Gamma\left(a_{i}+\alpha_{i} k\right)}{\prod_{j=1}^{q} \Gamma\left(b_{j}+\beta_{j} k\right)} \frac{x^{k}}{k!}, \tag{1.1}
\end{align*}
$$
\]

provided that $p, q \in \mathbb{N}_{0}=\mathbb{N} \cup\{0\} ; a_{i}, b_{j} \in \mathbb{C} ; \alpha_{i}, \beta_{j} \in \mathbb{R} ; \alpha_{i}, \beta_{j} \neq$ $0 ; i=1, \ldots p ; j=1, \ldots, q$.

The series (1.1) is absolutely convergent if $\Delta>-1, \forall x \in \mathbb{C}$; and if $\Delta=-1$, then the series (1.1) is absolutely convergent for $|x|<\delta$ (and if $|x|=\delta$, then $\operatorname{Re}(\mu)>-1 / 2$ ), where $\Delta, \delta$, and $\mu$ are given by

$$
\begin{gather*}
\Delta=\sum_{j=1}^{q} \beta_{j}-\sum_{i=1}^{p} \alpha_{i}>-1  \tag{1.2}\\
\delta=\left(\prod_{i=1}^{p}\left|\alpha_{i}\right|^{-\alpha_{i}}\right)\left(\prod_{j=1}^{q}\left|\beta_{j}\right|^{\beta_{j}}\right), \tag{1.3}
\end{gather*}
$$

and

$$
\begin{equation*}
\mu=\sum_{j=1}^{q} b_{j}-\sum_{i=1}^{p} a_{j}+\frac{p-q}{2} . \tag{1.4}
\end{equation*}
$$

We assume here and throught this paper that the aforementioned conditions of existence hold true for the function ${ }_{p} \psi_{q}[x]$. The generalized Wright's hypergeometric function contains in its fold the well known generalized hypergeometric function ${ }_{p} F_{q}[x]$, Mittag-Leffler function $E_{\rho, \mu}(x)$, and its mild generalization $E_{\rho, \mu}^{\gamma}(x)$, as well as, its extended form $E_{\rho}\left[\left(\beta_{1}, \alpha_{1}\right), \ldots,\left(\beta_{m}, \alpha_{m}\right) ; \mathrm{x}\right]$. These special cases have been studied by several authors, and we refer for their details to [1] and [3].

In a recent paper [2], several interesting properties were investigated for the function $E_{h, \lambda}^{\gamma}(x)$ (which is a generalization of the classical Mittag-Leffler function $E_{h, \lambda}(x)$, and the Kummer function $\left.\Phi(\gamma ; \lambda ; x)\right)$,
and is defined by

$$
\begin{equation*}
E_{h, \lambda}^{\gamma}(x)=\sum_{k=0}^{\infty} \frac{(\gamma)_{k}}{\Gamma(h k+\lambda)} x^{k} \quad(h, \lambda, \gamma \in \mathbb{C} ; \operatorname{Re}(h)>0) \tag{1.5}
\end{equation*}
$$

where $(\gamma)_{k}$ is the familiar Pochhammer symbol defined by

$$
\begin{equation*}
(\gamma)_{0}=1 ;(\gamma)_{k}=\prod_{i=1}^{k}(\gamma+i-1) \quad(k \in \mathbb{N}) \tag{1.6}
\end{equation*}
$$

The fractional calculus operators, viz. the Riemann-Liouville fractional integral operator $I_{a+}^{\alpha}$ of order $\alpha$, and the fractional derivative operator $\mathcal{D}_{a+}^{\alpha}$ of order $\alpha$, are respectively, defined by ([4]; see also [3])

$$
\begin{equation*}
\left(I_{a+}^{\alpha} \varphi\right)(x)=\frac{1}{\Gamma(\alpha)} \int_{a}^{x}(x-t)^{\alpha-1} \varphi(t) d t \quad(\alpha \in \mathbb{C}, \operatorname{Re}(\alpha)>0) \tag{1.7}
\end{equation*}
$$

and

$$
\begin{align*}
\left(\mathcal{D}_{a+}^{\alpha} \varphi\right)(x)=\left(\frac{d}{d x}\right)^{n}\left(I_{a+}^{n-\alpha} \varphi\right)(x) & \\
& (\alpha \in \mathbb{C}, \operatorname{Re}(\alpha)>0 ; n=[\operatorname{Re}(\alpha)]+1) \tag{1.8}
\end{align*}
$$

The purpose of this paper is to obtain some of the properties established in [2] for a substantially more general class of functions defined below. Our results include the simple differentiation and integration as well as the arbitrary orders of integration and differentiation for this class of functions. We also consider the applications of the basic results to the Wright's type function defined above by (1.1), and obtain composition properties (and other related properties) of the fractional calculus operators with a certain class of integral operators whose kernel involves the generalized Wright's hypergeometric function.

## 2. Basic results

In this section we present various basic results in compact forms which may very well be attributed to the function $E_{h, \lambda}^{\gamma}(x)$ defined by (1.5).

For a bounded arbitrary sequence $\sigma(k)$ of real (or complex) numbers, let us define a function $\mathcal{F}_{\rho, \lambda}(x)$ by

$$
\begin{equation*}
\mathcal{F}_{\rho, \lambda}(x)=\sum_{k=0}^{\infty} \frac{\sigma(k)}{\Gamma(\rho k+\lambda)} x^{k} \quad(\rho, \lambda \in \mathbb{C}(\operatorname{Re}(\rho)>0) ;|x|<R) \tag{2.1}
\end{equation*}
$$

where $R$ is the set of real numbers, and consider the integral operator

$$
\begin{equation*}
\left(\mathcal{J}_{\rho, \lambda, a+; \omega} \varphi\right)(x)=\int_{a}^{x}(x-t)^{\lambda-1} \mathcal{F}_{\rho, \lambda}\left[\omega(x-t)^{\rho}\right] \varphi(t) d t(x>a) \tag{2.2}
\end{equation*}
$$

where $a \in \mathbb{R}_{+}(x>a) ; \lambda, \rho, \omega \in \mathbb{C} ;(\operatorname{Re}(\lambda)>0, \operatorname{Re}(\rho)>0), \varphi(t)$ is such that the integral on the right side exists.

Making use of (2.1), and differentiating term-wise the right-side (which is permissible provided the series converges uniformly in any compact set of $\mathbb{C}$ ), we readily obtain

$$
\begin{equation*}
\left(\frac{d}{d x}\right)^{n} x^{\lambda-1} \mathcal{F}_{\rho, \lambda}\left(\omega x^{\rho}\right)=x^{\lambda-n-1} \mathcal{F}_{\rho, \lambda-n}\left(\omega x^{\rho}\right) \tag{2.3}
\end{equation*}
$$

where $\rho, \lambda, \omega \in \mathbb{C}(\operatorname{Re}(\rho)>0, \operatorname{Re}(\lambda)>0) ; n \in \mathbb{N}$.
Similarly, one can easily derive the following result (involving the function $\left.\mathcal{F}_{\rho, \lambda}(x)\right)$ :

$$
\begin{equation*}
\int_{0}^{x} \ldots \int_{0}^{x} t^{\lambda-1} \mathcal{F}_{\rho, \lambda}\left(\omega t^{\rho}\right)(d t)^{n}=x^{\lambda+n-1} \mathcal{F}_{\rho, \lambda+n}\left(\omega x^{\rho}\right) \tag{2.4}
\end{equation*}
$$

where $\rho, \lambda, \omega \in \mathbb{C}(\operatorname{Re}(\rho)>0, \operatorname{Re}(\lambda)>0) ; n \in \mathbb{N}$.
Next, we consider the fractional integral (and derivative) operators of the function $\mathcal{F}_{p, \lambda}(x)$. In view of (1.7) and (2.1), and implementing again the term-wise fractional integral operator $I_{0+}^{\alpha}$, and in the process using the formula [4, p. 40, (2.44)]:

$$
\begin{align*}
\left(I_{a+}^{\alpha}(t-a)^{\lambda-1}\right)(x)= & \frac{\Gamma(\lambda)}{\Gamma(\lambda+\alpha)}(x-a)^{\lambda+\alpha-1} \\
& \quad(\alpha, \lambda \in \mathbb{C} ; \operatorname{Re}(\alpha)>0, \operatorname{Re}(\lambda)>0) \tag{2.5}
\end{align*}
$$

we get for $x>a$ :

$$
\begin{aligned}
& \left(I_{a+}^{\alpha}(t-a)^{\lambda-1} \mathcal{F}_{\rho, \lambda}\left[\omega(t-a)^{\rho}\right]\right)(x) \\
& =\left(I_{a+}^{\alpha}\left\{\sum_{k=0}^{\infty} \frac{\sigma(k)}{\Gamma(\rho k+\lambda)} \omega^{k}(t-a)^{\rho k+\lambda-1}\right\}\right)(x) \\
& =\sum_{k=0}^{\infty} \frac{\sigma(k)}{\Gamma(\rho k+\lambda)} \omega^{k}\left(I_{a+}^{\alpha}\left\{(t-a)^{\rho k+\lambda-1}\right\}\right)(x) \\
& =(x-a)^{\lambda+\alpha-1} \mathcal{F}_{\rho, \lambda+\alpha}\left[\omega(x-a)^{\rho}\right] .
\end{aligned}
$$

Hence

$$
\begin{align*}
&\left(I_{a+}^{\alpha}(t-a)^{\lambda-1} \mathcal{F}_{\rho, \lambda}\left[\omega(t-a)^{\rho}\right]\right)(x)  \tag{2.6}\\
&=(x-a)^{\lambda+\alpha-1} \mathcal{F}_{\rho, \lambda+\alpha}\left[\omega(x-a)^{\rho}\right]
\end{align*}
$$

where $a \in \mathbb{R}_{+}(x>a) ; \alpha, \lambda, \rho, \omega \in \mathbb{C}(\operatorname{Re}(\alpha)>0, \operatorname{Re}(\lambda)>0, \operatorname{Re}(\rho)>0)$.
Using (1.8), (2.1), (2.3) and (2.6), we obtain the following result:

$$
\begin{align*}
&\left(\mathcal{D}_{a+}^{\alpha}(t-a)^{\lambda-1} \mathcal{F}_{\rho, \lambda}\left[\omega(t-a)^{\rho}\right]\right)(x)  \tag{2.7}\\
& \quad=(x-a)^{\lambda-\alpha-1} \mathcal{F}_{\rho, \lambda-\alpha}\left[\omega(x-a)^{\rho}\right]
\end{align*}
$$

where $a \in \mathbb{R}_{+}(x>a) ; \alpha, \lambda, \rho, \omega \in \mathbb{C}(\operatorname{Re}(\lambda)>\operatorname{Re}(\alpha)>0, \operatorname{Re}(\rho)>0)$.
We now determine the composition properties of the operator $\left(\mathcal{J}_{\rho, \lambda, a+; \omega} \varphi\right)(x)$ defined by (2.2) with the fractional integral operator $I_{0+}^{\alpha}$ and fractional derivative operator $\mathcal{D}_{0+}^{\alpha}$.

Using (1.7) and (2.2), we obtain

$$
\begin{aligned}
& \left(I_{a+}^{\alpha}\left(\mathcal{J}_{\rho, \lambda, a+; \omega} \varphi\right)\right)(x) \\
& \quad=\frac{1}{\Gamma(\alpha)} \int_{a}^{x}(x-u)^{\alpha-1} d u \int_{a}^{u}(u-t)^{\lambda-1} \mathcal{F}_{\rho, \lambda}\left[\omega(u-t)^{\rho}\right] \varphi(t) d t \\
& \quad=\int_{a}^{x} \frac{1}{\Gamma(\alpha)}\left[\int_{t}^{x}(x-u)^{\alpha-1}(u-t)^{\lambda-1} \mathcal{F}_{\rho, \lambda}\left[\omega(u-t)^{\rho}\right] d u\right] \varphi(t) d t \\
& \quad=\int_{a}^{x} \frac{1}{\Gamma(\alpha)}\left[\int_{0}^{x-t}(x-t-\tau)^{\alpha-1} \tau^{\lambda-1} \mathcal{F}_{\rho, \lambda}\left[\omega \tau^{\rho}\right] d \tau\right] \varphi(t) d t \\
& \quad=\int_{a}^{x} I_{0+}^{\alpha}\left(\tau^{\lambda-1} \mathcal{F}_{\rho, \lambda}\left[\omega \tau^{\rho}\right]\right)(x-t) \varphi(t) d t .
\end{aligned}
$$

Applying the assertion (2.6) on the right-side, we arrive at the following result:

$$
\begin{align*}
& \left(I_{a+}^{\alpha}\left(\mathcal{J}_{\rho, \lambda, a+; \omega} \varphi\right)\right)(x) \\
& \quad=\int_{a}^{x}(x-t)^{\lambda+\alpha-1} \mathcal{F}_{\rho, \lambda+\alpha}\left[\omega(x-t)^{\rho}\right] \varphi(t) d t(x>a) \tag{2.8}
\end{align*}
$$

provided the integral on the right side exists.
In an analogous manner, (1.8) and (2.2) yield the results

$$
\begin{align*}
& \left(\mathcal{D}_{a+}^{\alpha} \cdot\left(\mathcal{J}_{\rho, \lambda, a+; \omega} \varphi\right)\right)(x) \\
& \quad=\int_{a}^{x}(x-t)^{\lambda-\alpha-1} \mathcal{F}_{\rho, \lambda-\alpha}\left[\omega(x-t)^{\rho}\right] \varphi(t) d t \quad(x>a), \tag{2.9}
\end{align*}
$$

and

$$
\begin{align*}
\left(( \frac { d } { d x } ) ^ { r } \left(\mathcal{J}_{\rho, \lambda, a+} ; \omega\right.\right. & \varphi))(x) \\
= & \int_{a}^{x}(x-t)^{\lambda-r-1} \mathcal{F}_{\rho, \lambda-r}\left[\omega(x-t)^{\rho}\right] \varphi(t) d t  \tag{2.10}\\
& (x>a ; \operatorname{Re}(\lambda)>r ; r \in N),
\end{align*}
$$

provided the integrals on the right sides of (2.9) and (2.10) exist.

Remark 1. If we put $\sigma(k)=(\gamma)_{k}$ in (2.1), then by virtue of (1.5), we obtain the relationship $\mathcal{F}_{\rho, \lambda}(x)=E_{\rho, \lambda}^{\gamma}(x)$. With these substitutions, we observe that the results (2.3), (2.4), (2.6), (2.7), (2.8), (2.9) and (2.10) correspond to the results given in [2].

## 3. Applications to Wright's function

In order to consider the applications of the basic results obtained in Section 2 above, we prefer to involve some general recognizable functions stemming from the function $\mathcal{F}_{\rho, \lambda}(x)$, by appropriately, selecting the arbitrary sequence $\sigma(k)$ which essentially defines the function by means of (2.1). The generalized Wright's function defined by (1.1) is the one which we would deduce from (2.1).

Setting

$$
\begin{equation*}
\sigma(k)=\frac{\Gamma(\rho k+\lambda)}{k!} \frac{\prod_{i=1}^{p} \Gamma\left(a_{i}+\alpha_{i} k\right)}{\prod_{j=1}^{q} \Gamma\left(b_{j}+\beta_{j} k\right)} \tag{3.1}
\end{equation*}
$$

and also replacing x by $x^{h}\left(h \in \mathbb{R}_{+}\right)$in (2.1), we observe that

$$
\begin{equation*}
\mathcal{F}_{\rho, \lambda}\left(x^{h}\right)={ }_{p} \psi_{q}\left[x^{h}\right] . \tag{3.2}
\end{equation*}
$$

Applying (3.1) and (3.2) in (2.1), then (2.3), (2.4), (2.6) and (2.7) yield the following results involving the generalized Wright's function ${ }_{p} \psi_{q}[x]$.

Theorem 1. Let $h, \lambda, \omega, a_{i}, b_{j} \in \mathbb{C} ; \alpha_{i}, \beta_{j} \in \mathbb{R}(\operatorname{Re}(h)>0 ; i=$ $1, \ldots, p ; j=1, \ldots, q)$ and $n \in \mathbb{N}$. Then

$$
\left(\frac{d}{d x}\right)^{n} x_{p}^{\lambda-1} \psi_{q}\left[\omega x^{h}\right]=x_{p+1}^{\lambda-n-1} \psi_{q+1}\left[\left.\begin{array}{c}
\left(a_{i}, \alpha_{i}\right)_{1, p},(\lambda, h)  \tag{3.3}\\
\left(b_{i}, \beta_{i}\right)_{1, q},(\lambda-n, h)
\end{array} \right\rvert\, \omega x^{h}\right] .
$$

Theorem 2. Let $h, \lambda, \omega, a_{i}, b_{j} \in \mathbb{C}$ and $\alpha_{i}, \beta_{j} \in \mathbb{R}(\operatorname{Re}(h)>$ $0, \operatorname{Re}(\lambda)>0 ; i=1, \ldots, p ; j=1, \ldots, q)$. Then

$$
\begin{equation*}
\int_{0}^{x} \cdots \int_{0}^{x} t^{\lambda-1}{ }_{p} \psi_{q}\left[\omega t^{h}\right](d t)^{n}=x^{\lambda}{ }_{p+1} \psi_{\varphi+1}\left[\underset{\left(a_{i}, \alpha_{i}\right)_{1, p},(\lambda, h)}{\left(b_{i}, \beta_{i}\right)_{1, q},(\lambda+n, h)} \mid \omega x^{h}\right] . \tag{3.4}
\end{equation*}
$$

Theorem 3. Let $a \in \mathbb{R}_{+} ; h, \lambda, \omega, a_{i}, b_{j} \in \mathbb{C}$ and $\alpha_{i}, \beta_{j} \in \mathbb{R}(\operatorname{Re}(h)>$ $0 ; i=1, \ldots, p ; j=1, \ldots, q$ ). Then for $\operatorname{Re}(\alpha)>0, \operatorname{Re}(\lambda)>0$, and $x \in$ $(a, \infty)$, there exist the following relations:

$$
\begin{align*}
& \left(I_{a+}^{\alpha}(t-a)^{\lambda-1}{ }_{p} \psi_{q}\left[\omega(t-a)^{h}\right]\right)(x) \\
& \left.\quad=(x-a)^{\lambda+\alpha-\alpha}{ }_{p+1} \psi_{q+1}\left[\begin{array}{c}
\left(a_{i}, \alpha_{i}\right)_{1, p},(\lambda, h) \\
\left(b_{i}, \beta_{i}\right)_{1, q},(\lambda+\alpha, h)
\end{array}\right) \omega(x-a)^{h}\right] \tag{3.5}
\end{align*}
$$

and

$$
\begin{align*}
& \left(\mathcal{D}_{a+}^{\alpha}(t-a)^{\lambda-1}{ }_{p} \psi_{q}\left[\omega(t-a)^{h}\right]\right)(x) \\
& \quad=(x-a)^{\lambda-\alpha-1}{ }_{p+1} \psi_{q+1}\left[\left.\begin{array}{c}
\left(a_{i}, \alpha_{i}\right)_{1, p},(\lambda, h) \\
\left(b_{i}, \beta_{i}\right)_{1,4},(\lambda-\alpha, h)
\end{array} \right\rvert\, \omega(x-a)^{h}\right] . \tag{3.6}
\end{align*}
$$

Putting $p=2, q=1 ; a_{1}=b, a_{2}=c, \alpha_{1}=1, \alpha_{2}=\tau ; b_{1}=d, \beta_{1}=\tau$ in (1.1), we get

$$
{ }_{2} \psi_{1}\left[\begin{array}{c|c}
(b, 1),(c, \tau)  \tag{3.7}\\
(d, \tau) & x]={ }_{2} R_{1}^{\tau}(x), ~
\end{array}\right.
$$

where ${ }_{2} R_{1}^{\tau}(x)$ is the function introduced and studied by Virchenko [5], Theorem 3 gives then the following results:

Corollary 1. Let $a \in \mathbb{R}_{+} ; h, \lambda, \omega, b, c, d \in \mathbb{C}$ and $\tau \in \mathbb{R}(\operatorname{Re}(h)>0)$. Then for $\operatorname{Re}(\alpha)>0, \operatorname{Re}(\lambda)>0$, and $x \in(a, \infty)$, there exist the following relations:

$$
\begin{align*}
& \left(I_{a+}^{\alpha}(t-a)^{\lambda-1}{ }_{2} R_{1}^{\tau}(x)\right)(x) \\
& \quad=\frac{\Gamma(d)}{\Gamma(b) \Gamma(c)}(x-a)^{\lambda+\alpha-1}{ }_{3} \psi_{2}\left[\left.\begin{array}{c}
(b, 1),(c, \tau),(\lambda, h) \\
(d, \tau),(\lambda+\alpha, h)
\end{array} \right\rvert\, \omega(x-a)^{h}\right], \tag{3.8}
\end{align*}
$$

and

$$
\begin{align*}
& \left(\mathcal{D}_{a+}^{\alpha}(t-a)^{\lambda-1}{ }_{2} R_{1}^{\tau}(x)\right)(x) \\
& \quad=\frac{\Gamma(d)}{\Gamma(b) \Gamma(c)}(x-a)^{\lambda-\alpha-1}{ }_{3} \psi_{2}\left[\left.\begin{array}{c}
(b, 1),(c, \tau),(\lambda, h) \\
(d, \tau),(\lambda-\alpha, h)
\end{array} \right\rvert\, \omega(x-a)^{h}\right] . \tag{3.9}
\end{align*}
$$

Next, if we put $p=1, q=2 ; a_{1}=1, \alpha_{1}=1$ in (1.1), so that

$$
{ }_{1} \psi_{2}\left[\left.\begin{array}{c|c}
(1,1)  \tag{3.10}\\
\left(b_{1}, \beta_{1}\right),\left(b_{2}, \beta_{2}\right)
\end{array} \right\rvert\, x\right]=\Phi_{\beta_{1}, \beta_{2}}\left(x ; b_{1}, b_{2}\right)
$$

where the function $\Phi_{\beta_{1}, \beta_{2}}\left(x ; b_{1}, b_{2}\right)$ was introduced by Djzrbashian (see [5, (E.33)]). Theorem 3 in this special case yields the results which are given by the following:

Corollary 2. Let $a \in \mathbb{R}_{+} ; h, \lambda, \omega, b_{j} \in \mathbb{C}$ and $\beta_{j} \in \mathbb{R}(\operatorname{Re}(h)>0 ; j=1,2)$. Then $\operatorname{Re}(\alpha)>0, \operatorname{Re}(\lambda)>0$, and $x \in(a, \infty)$, there exist the following relations:

$$
\begin{align*}
& \left(I_{a+}^{\alpha}(t-a)^{\lambda-1} \Phi_{\beta_{1}, \beta_{2}}\left(\omega(t-a)^{h} ; b_{1}, b_{2}\right)\right)(x) \\
& \quad=(x-a)^{\lambda+\alpha-1}{ }_{2} \psi_{3}\left[\left.\begin{array}{c}
(1,1), \lambda, h) \\
\left(b_{1}, \beta_{1}\right),\left(b_{2}, \beta_{2}\right)(\lambda+\alpha, h)
\end{array} \right\rvert\, \omega(x-a)^{h}\right], \tag{3.11}
\end{align*}
$$

and

$$
\begin{align*}
& \left(\mathcal{D}_{a+}^{\alpha}(t-a)^{\lambda-1} \Phi_{\beta_{1}, \beta_{2}}\left(\omega(t-a)^{h} ; b_{1}, b_{2}\right)\right)(x)  \tag{3.11}\\
& \quad=(x-a)^{\lambda-\alpha-1}{ }_{2} \psi_{3}\left[\left.\begin{array}{c}
(1,1),(\lambda, h) \\
\left(b_{1}, \beta_{1}\right),\left(b_{2}, \beta_{2}\right)(\lambda-\alpha, h)
\end{array} \right\rvert\, \omega(x-a)^{h}\right] .
\end{align*}
$$

## 4. Convolution operator involving Wright's function

In view of (3.1) and (3.2), the integral operator $\left(\mathcal{J}_{h, \lambda, a+; \omega} \varphi\right)(x)$ defined by (2.2) yields a class of convolution type of integral operators involving the generalized Wright's hypergeometric function (1.1), which will be represented by

$$
\begin{array}{r}
\left(\mathcal{H}_{\omega, a+\left(\left(b_{q}, \beta_{q}\right)\right.}^{\lambda, h:\left(a_{p}, \alpha_{p}\right)} \varphi\right)(x)=\int_{a}^{x}(x-t)^{\lambda-1}{ }_{p} \psi_{\varphi}\left[\omega(x-t)^{h}\right] \varphi(t) d t  \tag{4.1}\\
(x>a),
\end{array}
$$

where $\lambda, \omega, h, a_{i}, b_{j} \in \mathbb{C}(\operatorname{Re}(\lambda)>0, \operatorname{Re}(h)>0) ; \alpha_{i}, \beta_{j} \in \mathbb{R}, \forall i=$ $1, \ldots, p ; j=1, \ldots, q$;

$$
\Delta=\sum_{j=1}^{q} \beta_{j}-\sum_{i=1}^{p} \alpha_{i}>-1
$$

(or

$$
\Delta=-1,\left|\omega(x-t)^{h}\right|<\delta=\prod_{i=1}^{p}\left|\alpha_{i}\right|^{-\alpha_{i}} \prod_{j=1}^{q}\left|\beta_{j}\right|^{\beta_{j}}
$$

and if $\left|\omega(x-t)^{h}\right|=\delta$, then $\left.\operatorname{Re}(\mu)>-1 / 2\right) ; \Delta, \delta$ and $\mu$ are respectively, given by (1.2), (1.3) and (1.4)

By invoking the generalized Wright's function as a kernel, the convolution type integral operator defined by (4.1) is now used to investigate its boundedness property on $L(a, b)$ by calculating its norm estimate. This property and the estimate are given by the following:

Theorem 4. Let $\lambda, \omega, h, a_{i}, b_{j} \in \mathbb{C}(\operatorname{Re}(\lambda)>0, \operatorname{Re}(h)>0) ; \alpha_{i}, \beta_{j} \in$ $\mathbb{R}, \forall i=1, \ldots, p ; j=1, \ldots, q ;$ be such
that $\Delta^{*}=\sum_{j=1}^{q} \beta_{j}-\sum_{i=1}^{p} \alpha_{i}>-\operatorname{Re}(h)$. Then the operator $\mathcal{H}_{\substack{\lambda, a+:\left(a_{q}, \beta_{q}\right)}}^{\substack{ \\\omega,\left(a_{p}, \alpha_{p}\right)}}$ is bounded on $L(a, b)(a<b)$, and

$$
\begin{equation*}
\left\|\mathcal{H}_{\omega, a+,\left(q_{q}, \beta_{q}\right)}^{\lambda, h_{,}\left(a_{p}, \alpha_{p}\right)} \varphi\right\| \leq \Omega^{*}\|\varphi\|, \tag{4.2}
\end{equation*}
$$

where

$$
\begin{equation*}
\Omega^{*}=(b-a)^{\operatorname{Re}(\lambda)} \sum_{k=0}^{\infty} \frac{\left|\prod_{i=1}^{p} \Gamma\left(a_{i}+\alpha_{i} k\right)\right|}{\left|\prod_{j=1}^{q} \Gamma\left(b_{j}+\beta_{j} k\right)\right|} \frac{\left|\omega(b-a)^{\operatorname{Re}(h)}\right|^{k}}{[\operatorname{Re}(h) k+\operatorname{Re}(\lambda)] k!} \tag{4.3}
\end{equation*}
$$

Proof. If we denote (for convenience) the kth term of the series (4.3) by $C_{k}$, then using the estimates:

$$
\begin{gather*}
\Gamma\left(a_{i}+\alpha_{i} k\right) \sim A_{i}\left(\frac{k}{e}\right)^{\alpha_{i} k} \alpha_{i}^{\alpha_{i} k} k^{a_{i}-1 / 2}\left(A_{i}=\sqrt{2 \pi} \alpha_{i}^{a_{i}-1 / 2} e^{-a_{i}}\right)  \tag{4.4}\\
\text { as } k \rightarrow \infty(i=1, \ldots, p),
\end{gather*}
$$

and

$$
\begin{gather*}
\Gamma\left(b_{j}+\beta_{j} k\right) \sim B_{j}\left(\frac{k}{e}\right)^{\beta_{j} k} \beta_{j}^{\beta_{j} k_{k}} k^{b_{j}-1 / 2}\left(B_{j}=\sqrt{2 \pi} \beta_{j}^{b_{j}-1 / 2} e^{-b_{j}}\right)  \tag{4.5}\\
\text { as } k \rightarrow \infty(j=1, \ldots, q),
\end{gather*}
$$

we obtain

$$
\begin{gather*}
\frac{C_{k+1}}{C_{k}}=\frac{|\omega|}{k+1} \frac{\prod_{i=1}^{p}\left|\Gamma\left(a_{i}+\alpha_{i}+\alpha_{i} k\right)\right|}{\prod_{i=1}^{p}\left|\Gamma\left(a_{i}+\alpha_{i} k\right)\right|} \frac{\prod_{i=1}^{q}\left|\Gamma\left(b_{i}+\beta_{i} k\right)\right|}{\prod_{i=1}^{q}\left|\Gamma\left(b_{i}+\beta_{i}+\beta_{i} k\right)\right|}  \tag{4.6}\\
\cdot \frac{[\operatorname{Re}(h) k+\operatorname{Re}(\lambda)]}{[\operatorname{Re}(h) k+\operatorname{Re}(h)+\operatorname{Re}(\lambda)]}(b-a)^{\operatorname{Re}(h)} .
\end{gather*}
$$

After an elementary simplification, this gives

$$
\frac{C_{k+1}}{C_{k}} \sim \frac{A|\omega|(b-a)^{\mathrm{Re}(h)}}{k+1}\left(\frac{k}{e}\right)^{-\Delta^{*} k} \rightarrow 0, \text { as } k \rightarrow \infty
$$

where

$$
\begin{equation*}
\Delta^{*}=\sum_{j=1}^{q} \beta_{j}-\sum_{i=1}^{p} \alpha_{i}+\operatorname{Re}(h)>0 \tag{4.7}
\end{equation*}
$$

and

$$
\begin{equation*}
A=[\operatorname{Re}(h)]^{-\operatorname{Re}(h)}\left(\prod_{i=1}^{\mathrm{p}} \alpha_{\mathrm{i}}^{\alpha_{\mathrm{i}}}\right)\left(\prod_{j=1}^{q} \beta_{\mathrm{j}}^{-\beta_{j}}\right) . \tag{4.8}
\end{equation*}
$$

In view of the conditions imposed with the theorem, it follows that the series occurring in (4.3) is a convergent series, and so $\Omega^{*}$ is finite.

Applying the norm definition given, for instance, in [2, p. 34, (1.15)] to the operator (4.1), and changing the order of integrations, we have

$$
\begin{align*}
& \left\|\mathcal{H} \begin{array}{c}
\lambda, h,\left(a_{p}, \alpha_{p}\right) \\
\omega, a+,\left(b_{q}, \beta_{q}\right)
\end{array}\right\|_{1} \\
& \quad=\int_{a}^{b}\left|\int_{a}^{x}(x-t)^{\lambda-1}{ }_{p} \psi_{q}\left[\omega(x-t)^{h}\right] \varphi(t) d t\right| d x \\
& \quad \leq \int_{a}^{b}\left\{\left.\int_{a}^{x}(x-t)^{\mathrm{Re}(\lambda)-1}\right|_{p} \psi_{q}\left[\omega(x-t)^{h}\right] \mid d x\right\}|\varphi(t)| d t  \tag{4.9}\\
& \quad=\int_{a}^{b}\left\{\left.\int_{a}^{b-t} u^{\mathrm{Re}(\lambda)-1}\right|_{p} \psi_{q}\left[\omega u^{h}\right] \mid d u\right\}|\varphi(t)| d t \\
& \quad \leq \int_{a}^{b}\left\{\left.\int_{a}^{b-a} u^{\mathrm{Re}(\lambda)-1}\right|_{p} \psi_{q}\left[\omega u^{h}\right] \mid d u\right\}|\varphi(t)| d t
\end{align*}
$$

Using the definition of the Wright's function (1.1), and integrating term-wise, the inner integral in (4.9) becomes

$$
\begin{align*}
& \int_{a}^{b-a} u^{\Re(\lambda)-1}{ }_{p} \psi_{q}\left[\omega u^{h}\right] \mid d u \\
& \leq \sum_{k=0}^{\infty} \frac{\left|\prod_{i=1}^{p} \Gamma\left(a_{i}+\alpha_{i} k\right)\right|}{\left|\prod_{i=1}^{q} \Gamma\left(b_{i}+\beta_{i} k\right)\right|} \frac{|\omega|^{k}}{k!} \int_{0}^{b-a} u^{\operatorname{Re}(\lambda)+k \operatorname{Re}(h)-1} d u=\Omega^{*} \tag{4.10}
\end{align*}
$$

and thus (4.9) and (4.10) yield the desired result (4.2).
Making use of the composition relations (2.8), (2.9) and (2.10) together with the substitutions mentioned in (3.1), (3.2) and (4.1), we obtain the following composition properties of the fractional calculus
operators $I_{0+}^{\alpha}$ and $\mathcal{D}_{0+}^{\alpha}$ with the integral operator $\left(\mathcal{H}_{\omega ; a+:\left(b_{q}, \beta_{q}\right)}^{\lambda, h_{i}:\left(a_{p}, \alpha_{p}\right)} \varphi\right)(x)$.

Theorem 5. Let $\alpha \in \mathbb{C}(\operatorname{Re}(\alpha))>0$, and suppose that $\lambda, \omega, h, a_{i}, b_{j} \in$ $\mathbb{C}$ are such that $\operatorname{Re}(\lambda)>0, \operatorname{Re}(h)>0 ; \alpha_{i}, \beta_{j} \in \mathbb{R}, \forall i=1, \ldots, p ; j=$ $1, \ldots, q$ then

$$
\begin{equation*}
I_{a+}^{\alpha} \mathcal{H}_{\omega ; a+:\left(b_{q}, \beta_{q}\right)}^{\lambda, h:\left(a_{p}, \alpha_{p}\right)} \varphi=\mathcal{H}_{\omega, a+:\left(b_{q}, \beta_{q}\right),(\lambda+\alpha, h)}^{\lambda+\alpha, h_{2}:\left(a_{p}, \alpha_{p}\right),(\lambda, h)} \varphi, \tag{4.11}
\end{equation*}
$$

where $\varphi \in L(a, b)$.

Theorem 6. Let $\alpha, \lambda, \omega, h, a_{i}, b_{j} \in \mathbb{C}(\operatorname{Re}(\lambda)>\operatorname{Re}(\alpha)>0 ; \operatorname{Re}(h)>0)$ and $\alpha_{i}, \beta_{j} \in \mathbb{R}, \forall i=1, \ldots, p ; j=1, \ldots, q$ then for $\varphi \in L(a, b)$ :

$$
\begin{equation*}
\mathcal{D}_{a+}^{\alpha} \mathcal{H}_{\omega, a+:\left(b_{q}, \beta_{q}\right)}^{\lambda, h:\left(a_{p}, \alpha_{p}\right)} \varphi=\mathcal{H}_{\omega, a+:\left(\sigma_{q}, \beta_{q}\right),(\lambda-\alpha, h)}^{\lambda-\alpha, h:\left(a_{p}, \alpha_{p}\right),(\lambda, h)} \varphi \tag{4.12}
\end{equation*}
$$

holds true for any continuous function $\varphi \in \mathcal{C}(a, b)$.
Also, for $r \in \mathbb{N}$ and $\Re(\lambda)>r$ :

$$
\begin{equation*}
\left(\frac{d}{d x}\right)^{r} \mathcal{H}_{\omega, a+:\left(b_{q}, \beta_{q}\right)}^{\lambda, h:\left(a_{p}, \alpha_{p}\right)} \varphi=\mathcal{H}_{\omega, a+:\left(b_{q}, \beta_{q}\right),(\lambda-r, h)}^{\lambda-r, h:\left(a_{p}, \alpha_{p}\right),(\lambda, h)} \varphi . \tag{4.13}
\end{equation*}
$$

Remark 2. Corresponding to the Remark 1 , if we employ the parametric substitutions $p=q=1, a_{1}=\gamma, \alpha_{1}=1, b_{1}=\lambda, \beta_{1}=h$ in (1.1), then the Wright's generalized function reduces to the function $\Gamma(\gamma) E_{h, \lambda}^{\gamma}(x)$ where $E_{h, \lambda}^{\gamma}(x)$ is the generalized Mittag-Leffler function studied in [2], so Theorems 1-6 correspond to similar assertions investigated in [2]. One can deduce several other results from those presented in this paper by suitably augmenting the parameters of the Wright's function ${ }_{p} \psi_{q}[x]$ (see, for example [1], [3] and [5] for the various special cases of the Wright's function).

## Acknowledgement

The present investigation was supported by All India Council for Technical Education (Govt. of India, New Delhi).

## REFERENCES

[1] Anatoly A. Kilbas, Megumi Saigo and Juan J. Trujillo, On the generalized Wright function, Fracl. Calc. Appld. Anal. 5 (2002), 437-460.
[2] Anatoly A. Kilbas, Megumi Saigo and R.K. Saxena, Generalized MittagLeffler function and generalized fractional calculus operators, Integral Transform. Spec. Func. 15 (2004), 31-49.
[3] V.S. Kiryakova, Generalized Fractional Calculus and Applications (Pitman Res. Notes in Math. Ser 301), Longman, Harlow, 1994.
[4] S.G. Samko, A.A. Kilbas and O.I. Marichev, Fractional Integrals and Deriyatives: Theory and Applications. Gordon and Breach, London, 1993.
[5] Nina A. Virchenko, On some generalizations of the functions of hypergeometric type, Fracl. Calc. Appld. Anal. 2 (1999), 233-244.
[6] E.M. Wright, The asypmtotic expansion of the generalized hypergeometric function, J. London Math. Soc. 10 (1935), 287-293.

Department of Mathematics,
M.P. University of Agri. and Technology

College of Technology and Engineering,
Udaipur 313001, Rajasthan, India
E-mail: rainark_7@hotmail.com


[^0]:    Received September 16, 2005.
    2000 Mathematics Subject Classification: 33E12, 33C60, 26 A33.
    Key words and phrases: Generalized hypergeometric function, generalized Mittag-Leffler function, fractional calculus operators,

